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This Question Paper consists of 36 questions including 3 figures and 12 printed pages + Graph Sheet.
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General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as(those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 49 /HIS/1-A on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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MATHEMATICS
(211)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 HUe ] [ qurie : 100
Note : (1) Question Numbers (1-14) are Multiple Choice Questions. Each question carries

one mark. For each question, four alternative choices A, B, C and D are provided,
of which only one is correct. You have to select the correct alternative and indicate
it in the answer-book provided to you by writing (A), (B), (C) or (D) as the case
may be.

Question Numbers (15-24) carry 2 marks each.
Question Numbers (25-33) carry 5 marks each.
Question Numbers (34-36) carry 7 marks each.

All questions are compulsory.

U 9@ (1-14) T dgfadedt ¥99 (Multiple Choice Question) § | I&® T9 Teh
3% 1 ¢ | TS TR H IR fawe A, B, C 71 D @ ™ €, 976 § Faa = R 7
SATYR! T forehed A1 S 9o s T o ST ST SR YRt # (A), (B), (C) 319iam (D)
St off feerfa &), feme gui 21

¥ GE&AT (15-24) T Fdeh W9 & 2 3 T |
I HEAT (25-33) TF TAF G & 5 FF §
I HE&AT (34-36) Th T T & 7 h 2|

|t g9 Ifrard ¥
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1. A rational number equivalent to the rational number _TS is : 1

WW?%WWW%:

A 2 B
*) B —
o -1 o 10
(©) 18 (D) 18
2. 2.07 as a percent can be written as : 1
2.07 %1 gfaerd % &9 § fere | o @ ©
(A) 207% (B) 20.7%
(C) 2.07% (D) 0.207%
3. %2000 at the rate of 8.5% per annum simple interest will yield I 510 in : 1
(A) 1 year (B) 2 years
(C) 3 years (D) 4 years

T 2000 T 8.5% STtk HILNU AT i <L H T 510 F57e =6l § yrd 81 98 @

(A) 17 (B)--2 o
(©) 3o (D) 4
4. A shopkeeper marks his goods10% more than their cost price and allows a discount of 1
10%. His gain or loss percent'is :
(A) 1% gain (B) 1% loss
(C) 0% gain or loss (D) 10% gain
T HFER T T9H R Fa 99 T 10% s goa 3ifehd a1 ©, 9971 10% o121 a1 2|
IHHRT I A1 A1 2 T
(A) 1% <9 (B) 1% =1
(C) 0% &4 =1 =81 (D) 10% <4
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1 3 1
5. Ifx—;=5,thenx _x_gequals: 1

1 3 1
Wﬁ:’x—;=5%,?|3fx _x—gwqﬁ%\’:

(A) 140 (B) 145
(C) 135 (D) 130
6 If A= i h h 1 f A i
. Ccos —\/g,t en the value of tan A 1s : 1

1
qc cos A= 53 %,?ﬁtanAEFTqFf%:

1

(A) 2 ® 7
1
© 3 D) 2

7. If a ladder 10 m long is touching the top of a wall, making an angle of 60° with the 1
wall, the height of wall (in meters) is :

Ife T 10 W st Wil T R F e #3dt g8, AR % " 60° H1 0 94 @Y, A

TR &1 S (A H) T
(A) 543 B) 5
5
© 542 O
8.  If tan A=cot B, then the value of (A+B) is : 1
¢ tan A=cot BE, (A +B) <1 |1 ?:
(A) 45° (B) 60°
(C) 90° (D) 180°
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9.  Two different coins are tossed at the same time. The probability of getting head on one 1
and tail on the other coin is :

3 fa=-fa=1 fasnl 1 T w1y SoTen T U fHek W fUd den g W 9 M R

yifaehdn @ :

A 1 B o

(A) 3 B) 3

C) 1 D 1

©) D) 5

10. The median of the data 16, 1, 6, 14, 4, 13, 8, 9, 23,9, 7, 8, 17 is : 1

3T 16,1, 6, 14, 4,13, 8,9, 23,9, 7, 8, 17 1 HIETH § :

(A) 8 B) 9

(C) 8.5 (D) 11

11. In the given figure, DE||BC. If AD=3 cm, DB=5 cm and AE =6 cm, then length of AC 1
is :

A

D E

B C

(A) 10 cm (B) 16 cm

() 6cm (D) 8cm

g T eHfa ®, DE|[BC ®1 afe AD=3 9.7, DB=5 9.4l. 991 AE=6 Q.71 T, A AC &I
SEIERE

A

o}
@

A) 10 9. (B) 169.dl.
C) 6d.H. (D) 8&.H.

49/HIS/1-211-A 6 IHERERAERATDIUVATTRWAW ¢ conta...

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

12. In the given figure, AB is a chord of a circle with centre O. If ZOAB=50°, then ZACB 1
is:

& T arepfa |, g O 9Tl g9 &1 T a1 ABR | afe LOAB=50°%, @ LACB oKX ® :

(A) 40° (B) 50°

(©) 100° (D) 25°

13. The co-ordinates of the point which divides the line segment joining the points (1, —2) 1
and (4, 7) internally in the ratio 1: 2 is :

foigstl (1, —2) q21 (4, 7) =1 Tham a1t Y@m@ve &1 :2 ¥ = fausH & o foig &

ﬁ é - %0‘ :
(A) 3 ® 62
© @1 D) (.1
14. If tan?0 +tan20 =1, then sec?0 is equal to : 1

e tan0 + tan20 =1 €, T sec20 HI-TF ¥ :

(A) cot?0 (B) tanZ0
(C) tanb (D) cotb
15. Perimeter of a rhombus is 104 cm and the length of one of its diagonal is 48 cm. Find 2

the length of its other diagonal.

T FHAGYS 1 IRETT 104 FH 7 9o 55k U foskvl Y e 48 I B A 39k g faan
I TATE AT HIFTTC |
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16. Prove the identity : 2

wate &1 fag Fife

tan A+cot B

————————— =tan A. cot B.
cot A+tan B

17. Three cubes of edge 6 cm each are joined end to end to form a cuboid. Find the surface 2
area of the cuboid so formed.

6 9.1, foFaR a1t 9 = @l faR @ o fie R ue Sy a9 ST § 1 9 S 6 IR
&AHA 1A HIT

18. L and M are the mid-points of the sides AB and AC of AABC, right angled at B. Show 2
that 4 LC?=AB?+4 BC%

ol TmaRor f1eqst ABC, i /B TWahIv €, & ossii AB a2 AC & Heafag A Laen
M 2| <uIis f 4 LC2= AB2+4 BC2.

19. Show that a cyclic parallelogram is a rectangle. 2

TUMEY, foF T T ia TR Iqds T 379 o €

20. Factorise : 2
NUBLERS) IS :
aZ—b2+8b—16.

21. If 110 is reduced to 88, find the reduction percent. 2

Jfg 110 i =121 1 88 T fear S, df gfqerd st J1d ity |
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22. The sides of a triangle are 28 cm, 36 cm and 48 cm. Find the lengths of line-segments 2
into which the smallest side is divided by the bisector of the angle opposite to it.

T I *1 od 28 AT, 36 THL qom 48 At &1 T BRI SN F FHA F HIT H
THigATS 39 Y1 &1 54 S Yaravel # fafa wom, STt eongal 9 S|

23. In two similar triangles ABC and PQR, if the corresponding altitudes AD and PS arein 2
the ratio 9 : 25, find the ratio of the areas of AABC and APQR.

Ife <t gued st ABC 991 PQR % de-&d ¥id wiei AD 991 PS H 9 : 25 &1 37U € ot
AABC 91 APQR o &A%al 1 STIU J1d hITeIT |

24. Solve the following system of equations : 2

=1 g1 9™ T B 1 it

3x—y=7, 4x—5y=2.

25. Prove that the tangents drawn from an external point to a circle are of equal length. 5

fag wifsre for fhet amer foig @ @ W i 18 et Xt &f cemsar 99 el ¢ |

26. From the top of a building 60 m high, the angles of depression of the top and bottom of 5
a tower are observed to be 45° and 60° respectively. Find the height of the tower and its

distance from the building. [ Use /3 =1.73 ]

60 . S Tk Yo o RE 9, Tk HHR o fIER U6 U1e & SAaTHT 101 A 45° 991 60° 8 |
TR 1 S8 a0 a9 ¥ ST g0 I HIGC [ /3 =1.73 ST |
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27. Draw a histogram for the following data : 5

Height (in cm) : | 125 - 130|130 - 135(135 - 140|140 - 145|145 - 150|150 - 155|155 - 160

Number of
1 2 3 5 4 3 2

students :
=1 stfnel % faw w seafes difew)
S ([ §):[125 - 130|130 - 135|135 - 140|140 - 145|145 - 150|150 - 155|155 - 160
forenfor =t

‘ 1 2 3 5 4 3 2
e

OR/ 31qdT

( For visually impaired candidates only )
(haa gfte famann faente=t & fau)

The class marks of a distribution and the corresponding frequencies are given below :

Class marks| 5 15 25 35 45 55 65 75
Frequencies | 2 6 10 15 12 8 5 2

Determine the frequency table and hence construct the cumulative frequency table.

forel} oe & ot forg o7 E9Td IRaRaTd == IRoH < ¢

it fog 5 15 25 35 45 55 65 75
IRARAT 2 6 10 15 12 8 5 2

I SAThel W TR TR S5 37a: Hedl sReal JRoft s |
28. The denominator of a rational number is greater than its numerator by 8. If the 5

denominator is decreased by 1 and numerator is increased by 17, the number obtained

3
is E Find the rational number.

T URHT G 1 &, 39 I 9 891 § 1 Afg e H § 1 w1 foan sme qen o191 § 17 sire fean

. 3 ~ . ne
ST, 7 T 5 I Bl & | IRET WA J1d i |

49/HIS/1-211-A 10 IHERERAERATDIUVATTRWAW ¢ conta...

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

29.

30.

31.

32.
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The cost of a machinery is X 3,60,000 today. In the first year, the value depreciates by 5
12% and subsequently, the value depreciates by 8% each year. Find the depreciated
value of the machinery at the end of 3 years.

TS Teh HWRI 1 qed T 3,60,000 T 1 U8et o8 | 30 qod | 12% 1 T ol § 3R
3Hoh TYE & 9 SHH Yl 8% T W1 ¢ | I HiWC fF 399 & o7 § WA 1 g
fora & S ?

From the following distribution of bulbs kept in boxes, find the mean number of bulbs 5
kept in a box.

Number of bulbs :

50 -52

52 -54

54 - 56

56 - 58

58 - 60

Number of boxes :

15

100

126

105

30

A B T o] o (T sied 9 Tk 999 H W gosl 6l J1eT & J1d HIFNT ¢

Feell 1 WEAT: | 50 -52 | 52-54 | 54-56 | 56 -58 | 58 - 60
JFEi T EEAr: | 15 100 126 105 30
In the given figure, BA and DC are two chords of a circle intersecting each other at a 5

point P outside the circle. If PA=4 cm, PB=10 cmmand CD =3 cm, find PC.

& ¢ pfa §, Sfamd BA 921 DC 94 % el Tk fiig P R TR el € | afg PA=4 .41,
PB=10 9.41. 91 CD=3 9. H). §, @ PC I ST |

Simplify and express the following as rational expression in lowest terms : 5

frefefad =1 Tt SISy 9o 9HT =557 & A0 &9 § e iy :

¥ +2x-24 | x*—x-6
x2—x—12 29
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1 4 1
33. Find the value of X — - if x° + A =727,

1
?Tf?x4+i4=727%,a‘tx—;wwﬁamaﬁml
X

34. Construct a AABC in which BC=6.5 cm, ZABC=60° and AB=5 cm. Then construct

3
another triangle whose sides are 5 times the corresponding sides of AABC.

T f3Ys ABC &t W1 &ifse f9d BC=6.5 9.7, LABC=60° da1 AB=5 9.7, §1 fi
T 311 39S 1 T FifST @kt Y= AABC &1 74 amaﬁﬁgﬂﬁ%

OR/31<raT
( For visually impaired candidates only )
(haa gfte famar faenfuai & fa)

Write the steps of construction for constructing a AABC in which AB=4 cm, LA =45°
and AC-BC=1 cm.

T& AABC, {9 AB=4 9.71., LA =45°d9T AC—BC=1Q.1. €, &I T & fag, &1 &
g fafEm|

35. The product of digits of a two digit number is 12. When 9 is added to the number, the
digits interchange their places. Determine the number.

T e i T H&AT & Al H1 TORA 127 | T § 9 S W 3k 7T WM 98 o ¢ |
HE&AT 1 ST |

36. Find the area of a trapezium whose parallel sides are 11 cm and 25 cm and whose
non-parallel sides are 15 cm and 13 cm.

Teh TS T SAHS TG HIFSTT TSTHeh! T et st demsal 11 9.4, 3R 25 9.1, € qen
STEATAR [eetl i ofemgal 15 9.497. 3R 13 F.H. T

-00o0-
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